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PN A HF. & 10 ke 1, 080 864 | T —ILARATL B Ik 8 ke 4, 860 —
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< EW 5 15 ke 1, 296 108
Xy XY i =S 10 ke 1, 404 648
L&A £ B 10 ke 1, 620 648
w9y dbEE 5 ke 1,620 | 648
AR A 5 ke 1,620 —
=k % IE 4 kg 1,728 —
P T oIE 130 g 86 64
Lok ALiEE 10 ke 1, 080 540
TmERE AbiEE 20 ke 1,836 | 1, 620
A LW ™ B 100 g 162 86
E3eY ) . 1 ke| 14, 040 5, 400
£ B 100 g 51 43
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BT m 5 1 ke 1, 242 216
VG X A I 1ke 1,296 216
&EH o T = 1ke 2,484 | 864
INE FOagk L 1 ke 2, 160 324
VA, g K 1 ke 1, 080 432
7% BB 1ke 4, 320 151
A = & | 1ke 1,944 540 |
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